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State Eligibility Test - 2018
(Model Answer Key)

Commerce

Q1 : The term Opportunity cost refers to-

3T ARTT Hehdd BT -

Variable Cost

gRaaaeier amera

Short-run Cost

ﬂgehll'?ﬂeh CIE)

Cost forgone in favour of production of another product

Teh 391G g fohdl 31 3cule &l IReashd o

Cost related to an optimum level of production

D
3cUTGe o TUhdH T T FFdfeeld oeld

Answer Key: C

Q2 : The main difference between marginal costing and absorption costing lies in the treatment of ---
AT AT or@rehet 3R 3raNVoT d@iened & S A& R Arrfaf@a # & sgagr &

Fixed Overheads

& 3uReay

Variable overheads

IREIAT 3R

Direct cost

HcT&T elleld

Semi-variable overheads

D -gREd 3R

Answer Key: B




Q3 : The theory of Revealed Preference was propounded by-
Sehe gl o1 fAeurd gfddried fear -

A Marshall

T AT

P.F. Drucker

dT.U%. 3R

J.R. Hicks

SR e

Paul Samuelson

D

diel drgede

Answer Key: D

Q4 : The final accounts of manufacturing company generally include the following statements in sequence
of
1.Balance Sheet
2.Manufacturing Account
3.Profit and Loss Account
4.Trading Account
5.Profit and Loss Appropriation Account

T fAHOT hruelt & A ol & AEAAT HeATaf@d favol i 3tegshadr
AT BT g

1.3 Ricar

2 fafaaTer @rar

3. amH-gifer @rar

4.cT9R @It

5. TH-gIfer FATSTA @I

AR I TATY T TET FH &-

1,2,3,4,5

1,2,3,4,5

2,4,3,5,1

2,4,3,5,1

5,2,4,3,1

5,2,4,3,1

1,4,3,2,5




D|1,43.25

Answer Key: B

QS5 : Consider the following statistical tests-
(1) F-test
(2) T-test
(3) Z-test
(4) Chi-square test
Which of these are parametric test?

frAfa i@ aregha qderon 9 eI & -

(1) F-93rayor

(2) T-9dveToT

(3) Z-9dregor

(4) PTS-THATT (chi-square) TIETOT

B'Q'éj:w"a H ¥ Pl graferd (Parametric) TX&ToT 82

(1).(2) and (4)

(),2) 3R (4)

(1),(3) and (4)

(D,(3) 3R (4)

(1),(2) and (3)

(1),2) 3R (3)

(2),(3) and (4)

D
(2),(3) AR (4)

Answer Key: B

Q6 : The Most widely used method of collecting primary data is
WA 3Hiehs! & Heholol I HaTftieh Yl fafer § 2

Experimental Research

JAaTcHS QMer

Observation Research

U&TUTIcH 2AMeT

Statistical Research

AETHT e

Survey Research




D | adetor aner

Answer Key: D

Q7 : Who plays significant role in the distribution of goods when do not sell to ultimate users or customers
9

ST 3T 3UANITehT AT IUFAT Y a&] AT Sl STl T 58 TIeROT H il HgeaqoT
G GEANCE SN

Retailer

e fashdr

Commission Agent

FHHRE Toic

Mediator

HEJEY

Wholeseller

-

Answer Key: D

Q8 : Histogram is useful to determine graphically the value of-

feectan Y@ #ea AuiRa & & o 3uaret -

Arthmetic Mean

Afes A

Median

EER

Mode

As

None of these

Pl sy o avs @

Answer Key: C

Q9 : Who has developed the 'Systems Approach’ of industrial relation ?
Jefies gFael Hr gomel 3uTeTH Y fhaa Fewfaa fhar 2

Garry S.Becker




A [T THI

Michael J.Jucius

ASh F.JaE

John Dunlop

SlieT SoTolq

Edwin B.Flippo

D et a1 fofarear

Answer Key: A

Q10 : A Company can buy back shares -
Ueh ShYell 32T I agd T H Thdl o-

Partly paid shares

37 Ged AU

Fully paid shares

qot ged 372

Partly called up

eI I 3T

None of these

Pleci ¢ aismd

Answer Key: B

Q11 : Which one among the following has not started Commercial Banking?

Afaf@a # T 5T T o Iuie dfeher 3IRFT 87 forar &2

SIDBI

TSNS

IDBI

HTSSEITS

ICICI

CIERIEIERIEIS

UTI




D |g&ims

Answer Key: A

Q12 : Jindal Ltd. has earned 8% return on total assets of Rs 50,00,000 and has a Net Profit Ratio of 5%.

Find out the sales of the firm.

Sieeer faffies & e FU 50,00,000 T IREFTTT T 8% HicterreT 3iforcd fovam & 3R
Taeretr ot 3equreT 5% 81 $H & faehd v

Rs 4,00,000

9T 4,00,000

Rs 2,80,000

9 2,80,000

Rs 80,00,000

9 80,00,000

D

Rs 83,33,333

9T 83,33,333

Answer Key: C

Q13 : Which one of the following statements is true?

fArfaf@d s d & FHiaar a7 &2

Capital expenditure does not affect the Profitability of concern but revenue expenditure does.

YT S0 el T ST T FATA g Al 8,91 A eqF T el g

Capital expenditure affects the profitability of concern directly but revenue expenditure doesn’t.

YSTaT & el T AreIar T W grfad AT § W AT I AL AT B

Capital expenditure affects the profitability of a concern indirectly, but revenue expenditure affects
directly.

YTl S el T ST 1 HTcTET ¥T & THIAT el 8.9 IR &3 diey
gaTfad S gl

D

Both Capital and Revenue expenditure affect the Profitability of a concern directly.

Joll SO U HRETT ST Gl il T SrHeTar i Wy gonfaa & gl

Answer Key: C




Q14 : Match the items of List I With items of List I

a)
b)
c)
d)

List (1)
Political and legal Environment
Demographic Environment
Economic Environment
Geographical and Ecological
Environment

o B o

T Ieh |y G el Shifaie

List (I1)
Important for industries directly depending on imports or exports
Close relationship with economic system and economic policy
Related to natural resources.
Occupational and the local conditions of population having
implication for business

T 1

T 2

37) USIeifd® va fdfte ararager

. 3R A1 fdar AR R 3gEen & o

Hgcaqol
) Sl aidraRoT . 3fe cuawRr vd e SAifd & awrr afase e
H) 3% ardaRer . ihide TR § Hafed
g) silfes IR aRfRafadrr . SomEn S gauiide AR wifae g A sgaarT
GIGIGEE HI geATfdd Far &

A B C D

2 4 3 1
Alsr 9 &§ ©

2 4 3 1

A B C D

2 4 1 3
B

5§ & §

N

A B C

1 2 3 4
“l1sr ¥ ® =

1 2 3 4

A C D
D

1 2 4 3




I3 & ¥ 7@

1 2 4 3

Answer Key: B

Q15 : Which of the following is sub variance of Labour Efficiency Variance?

HH &THAT JHROT HI 3U-YER0T fAeAtaf@d & & i g2

Idle Time Variance

SRR AT T JEI0T

Labour-Mix Variance

HA-IS TEIoT

Labour Yield Variance

HH-TAOT g@IoT

All of these

D

ot & T

Answer Key: D

Q16 : An Investment center is a responsibility center where the manager has control over-

fder Feg 3TRERcT Feq § 8T FaUF H 37 W AIF07 g -

Cost

ICIGH

Cost and Profit

CIEIG YR IE:T

Cost,profit and product quality

ST, SIT8T T 3cuTe, J[UTdedT

Cost, profit and asset

D .
T, I T IRGFITT

Answer Key: C




Q17 : Match the following:
List-1
a) Zero base budgeting

List-lI
1.Internal reconstruction

b) Goodwill or Capital Reserve 2.Earning per share

c) Reduction of Capital
d) Basicand diluted

fArfaf@a &1 @ i

3.Control of expenditure
4 . Business combination

T 1 T 2
(37) WA IR Foicst 1. HTARSE QAT
(@) Tarfd ar i T=a 2. 9fdt 37er 3o
(F) Yoir # HAT 3. cga & AT
(@) Fereyd AR afofipe 4. I TASA
@ () (o (d
3 4 2 4
A
3 & ¥ 7
s 4 2 7
(@ (o) (o) (d)
& @ X 2
B
A & ¥H T
4 3 1 2
@ () (0 (@
£ 1 3 2
“l¥ & ¥ 7
4 1 3 2
(@ () (0 (@
D
3 4 T 2




A d ¥ @

3 4 1 2

Answer Key: D

Q18 : The type of lease requiring an agreement between the financier and lessor is known-

foauiver 3R geemhedrl & o fondr gasila $r maegsar Tedt 9 & YR Sl Fel
ST -

Financial Lease

o oeer

Sales and Lease back

fasha 3R geer arodr

Leveraged Lease

dlayat geer

Operating Lease

D
qR=ITeleT geer

Answer Key: C

Q19 : Match the following:

List | List Il
a)Normal Profit 1.Excess of total revenue over total explicit cost
b) Economic Profit 2.Total Revenue equals total economic cost.
c) Accounting Profit 3.Excess of total revenue over total explicit and implicit cost
and a normal rate of interest
farafaf@a = e fifaw:
T 1 T 2
(37) THT BT 1. Tl TUSC SN IR Hol A & AT
(@) e omeT 2. Pl A el IAF AHIT & R
(F) oraT arey 3. Tl TISC UG IS Ml AR a1l H AT &I

W FHel HEH S AR

(@) () (9

3 1 2




al2 1 3
¥ g 4
2 1 8
(@) (b) ()

clt 2 3
¥ 4
1 2 3
(@) (b) ()

p|1 3 2
¥ 9 47
1 3 2

Answer Key: B

Q20 : Statement I : When a null hypothesis gets rejected in statistically hypothesis testing. It is known as
II Type error in hypothesis testing.
Statement II : When a sample is small sized and parametric value of the standard deviation is not
known, Z-test is the most appropriate test for hypothesis testing.

FYA-1 : ST YT TRhoTel HQTHT TRebeTAT IRETUT H g g ol & ar 38
aReheusT qdeTor T M e FeT S 8

HYA-2 : ST Teh Gldgd BIC HHR HT g1 Ud GAN A=l &1 grifos Hed A1d o &
a9 IR qdEToT & fIT Fad 3uded adefor 'z qeTor giar §

Both statements are correct.

aleAl HUT Tl &

Both statements are incorrect.

Al YT I §




statement I is correct while statement II is incorrect.

FUA | GET STafeh HUA 2 Il &

statement I is incorrect while statement II is correct.

Dwzaﬁrmﬁsmﬂlw%

Answer Key: B

Q21 : Public distribution system relates to-

Retailing system

HEHI/GET FuTTell &

Marketing system

fQuuTeT gomelr &

Industrial system

e gomer &

Selling system

Dﬁao‘zrqvﬂ?»?rﬁ

Answer Key: A

Q22 : Select the four stages of Group Development from the following:
1.Forming
2.Storming
3.Discussing
4 Norming
5. Warning
6. Performing
Select the correct answer from the following

e & @ @ffger e S IR HaEATB3T HT a9 AT
1. IRTHT

2 T

3 ST e

4 ARTHTT

5 arfetar

6 TRBITHT

1,2,3and 5

1,233 5




2,34 and 6

2343 6

3,4,5and 6

3,453 6

1,2,4 and 6

D
1,2,4 3R 6

Answer Key: D

Q23 : Which of the following may be defined as relative change in profit due to change in rate?

RAFITATET & O Harar g & IRadT & HROT orH H IRGdT HF JGRId dr &2

Leverge

e

BEP

. §. dr (BEP)

P/V ratio

SITS/FATAT T

None of these

Plomr & a8 =

Answer Key: C

Q24 : Production manager is a part of:
3caICe JaYe AT §

Top level management

3T TART 9&Y

Low level management

ot Tl ysYy

Middle level management

AEIH TANT JaeT

None of these

Pl & ;g et

Answer Key: C




Q25 : Match the following List-I and List-1I

List-1 (Company Name) List-Il (Brand)
a) HUL 1 Cerelac
b) ITC 2 Eclares
c) Nestle 3 Vivel
d) Cadbury 4 Sunsilk
fArfafea g 130 g=h 21 e fifee

It 1 (awae) Z=H 2 (g7s)
3) ..U 1 aerh
) TS EnEr 2 THATY
) ool 3 faqer
) hsadr 4 | FoIlBic®

£ 2 3 1
C
33 & " ¢«
4 2 3 1
(@ (b) (c) (d)
D




¥ § | q
$ JF 2 1

Answer Key: A

Q26 : Assertion (A) : Internal factors of business environment are controllable factors.
Reason (R) : The Company can alter or modify such factors to suit the environment.

3IfFFUA (T) : cya@ A IIaTaRoT FT 3dRe gesh FAaoiT e giar &l
HRUT (3R) : FHUAT S TTH I ARV I 39T Tt & forw gRafda ar genfera
FT Faheh Bl

Both (A) and (R) are correct

(@) 3R (3R) = aer 2l

(A) is correct but (R) is incorrect

(T) WEr § W (3R) reld gl

Both (A) and (R) are incorrect

(@) 3R (3R) = T g

(A) is incorrect

b (T) 1A B

Answer Key: A

Q27 : Which of the following are modern methods of performance appraisal ?
1-360 degree Performance Appraisal
2-Graphic Rating Scale
3- Management by Objective (MBO)
4-Forced Distribution Method
5-Behaviourally Anchored Rating Scale (BARS)
Select the correct answer from below:-
fAfaf@d & & fAsdrest Hedihed & 3Meyfas Ay Slerd &
1 360° forsaTesT Herehat
2 Tither AU AT
3 3Gl AT yaue
4 gelshd faawor fafey
5 SHAgRIS TR HOMNT ATIAT

1,2and 3

1,231 3

24 and 5




B|243R 5

1,3and 5

133 5

1,2 and 4

D
1,23 4

Answer Key: C

Q28 : The Major provisions for employees health and safety are contained in-

FHAREA & FarEe aAT GR&T F fov Jew yau F Ak §-

The Factories Act-1948

haredl 31faATT-1948

The Industrial Dispute Act-1947

e e faare 3rfafaaa-1947

The Industrial Employment Act-1946

i Voo 3fAfaA-1946

The Employees Compensation Act-1923

P | sty st srfeforr 1023

Answer Key: A

Q29 : The Most recent consideration in product packaging is-

3cUTG, I UchfoldT H gTel FI FaIdes aarefieldar &I a2 g-

Cost Effectiveness

CIEGREICHIEE

Product promotion

3cdTG FaYT

Product protection

3cqTe II&ToT

Economy

P ——

Answer Key: B




Q30 : Which of the following is not function of Foreign Exchange Market?
fAefaf@d & d e faged g1 TR w1 FF 728 82

Hedging Function

gairar

Stabilization Function

Eufaeor 7

Credit Function

TG HR

Transfer Function

D

EEATRUT HT

Answer Key: A

Q31 : Match the List I and List II

List-l List-Il
a) INTUC 1 1920
b) AITUC 2 1947
c) CITU 3 1955
d) BMS a 1970
T 13 G G I H Ao it
T | I
3) s gor g 1 1920
) gamg gl 2 1947
q) s d g 3 1955
@) dteaex 4 1970
(a) (b) (c) (d)
1 2 3 4
A
(37) (&) (¥) (@)
1 2 3 4
B (a) (b) (c) (d)
2 1 4 3




(37) (<) () (@
2 | 4 3
(a) (b) (c) (d)
o2 1 3 4
(37) (€) () (@
2 1 3 4
(a) (b) (c) (d)
3 1 4 2
D
(37) (<) () (@
3 1 4 2

Answer Key: B

Q32 : Which one of the following is not major punishment?

fArafaf@a # awiaar 931 &3 78 82

Transfer

TATATAROT

Demotion

qerdeifa

With holding increments

EREICHABRIET]

Suspension

Dﬁ'

Answer Key: A

Q33 : Match the following List I and List IT

List-I List-1I
a) SAARC 1 | Philipines
b) ASEAN 2 | Canada
c) EU 3 | Afghanistan
d) NAFTA 4 | Hungary




fAefai@d gt | v g 2 &1 Ade hiee

Ul Ul
3) | TETTHRH 1 | fferda
) T.UE 5.0 5 | FaTET
@5 3 | 3MweTforzdral
@) Ul .UUH.ELT 4 | BIRY
(a) (b) (c) (d)
2 - 1 3
A
(37) (€) (%) (@
2 4 1 3
(a) (b) (c) (d)
= 2 1 3
B
(37) (€) (&) (@
- 2 1 3
(a) (b) (c) (d)
3 1 4 2
C
(31) (€) (%) (@
3 1 4 2
(a) (b) (c) (d)
3 4 2 1
D
(37) (@) () (€
3 4 2 5
Answer Key: C
Q34 : Match the following List I and List IT
List- List-1
a) Pension Scheme Health Care Family
b) Personal Security Serverance Pay
c) Financial Assistance Provident Fund
Transport
d) Allowance 4 Allowance




fArafafad @ 19 @y @& 1 e s

G i
31) | Y IS 1 |IBaR & o @y Ja
) | cafdhdard gram 2 | GUFHIOT ddeT
q) | Acdhtr gsmar 3 | sifasa fafer
q) | Scar 4 | TraRITd Hedl
(a) (b) (c) (d)
1 2 3 4
A
(37) (€) (%) (@
1 2 3 -
(a) (b) (c) (d)
3 1 2 4
B
(37) (€) (%) (@
3 1 & 4
(a) (b) (c) (d)
3 2 1 4
C
(31) («) (%) (@
3 2 1 4
(a) (b) (c) (d)
b 1 4 2 3
(31) (@) (@) @
1 4 2 3

Answer Key: B

Q35 : Graicunna’s name is linked with-

FTCRAT T ATH ST3T E3T &-

Delegation of Authority

ITORRT & TS T

Span of Control

gaey AEaR &

Unity of Command

3 T THAT A

None of these




D|35H & FIg Ter

Answer Key: D

Q36 : If demand equation is given by D = 1000-P and the supply equation is given by S= 100+4P, price
will be-

IfE AT &1 FHARIOTD=1000-P § 3 qfct &1 FHEOT S=100+4P § o H1HAT gref-

160

160

180

180

170

170

200

D

200

Answer Key: B

Q37 : GDP at Factor Cost is -
WU AT O S S gl &

P(Q) +P(S)

P(Q)+P(S)

GDP -IT-S

GDP-IT-S

GDP +DT + S

GDP +DT + S

GDP-DT + S
D

GDP-DT +S

Answer Key: B

Q38 : If the total assets of a company amount to Rs. 1,50,000 and owner’s equity is Rs. 70,000. The
amount of liabilities will be-

e el T Fol TFATT TTF 1,50,000 & IR F1HA AT 3fFaEr (Owner’s Equity) 393
70,000 8, df SoTeTRAT T fA— gref-

Rs. 70,000

9T 70,000




Rs. 80,000

9T 80,000

Rs. 90,000

9T 90,000

Rs. 1,00,000

D
9 1,00,000

Answer Key: B

Q39 : What is the characteristic of a purely competitive market?
Te[eer TqUT AT’ T AT oaToT &2

Large Number of buyers and sellers

ShalT3il 3N fasharaft T @81 Fear

A Few Sellers

o fashar

A Few Buyers

S Sl

Abnormal Profit

D
AHCT oA

Answer Key: A

Q40 : Human Resource Management includes-
1.Employees Grievances
2.0Organisational Climate
3.Job Incentives
4 Recruitment
5.Selection
Select the correct answer:

AT TOTY vaeue & gfEAfag §
1 Faarr Reraa

2 FISATCHS aTdTaR 0]

3 TS Sicarge

4 A1t

5 IdYeT

el 30X & T FIfAT -




1,2,3 and 4

1233 4

1,34 and 5

1,343 5

land 5

13k 5

All of these

Pl & wot

Answer Key: B

Q41 : False and misleading claims and vulgarity in advertisement do not match with-

faamosT & 3\ 3R HHF gId TAT 3SAT A Adl QI B-

Aggressive advertisement

3Tt AT

Ethics in advertisement

CRICGR-EGIRET

Mass Leave of advertisement

e T faamaeT

Sales Promotion

P S———

Answer Key: B

Q42 : Which one of the following is not the way of internal reconstruction ?

fArfaf@a & & slear 3aie qAfA#AToT S aliehr e 82

By Alteration in share capital of company

Fuel T RR YA H deerd Hlh

By Reduction in share capital

W Yot AT &

By Agreement with companies creditors

FUfAAT & SelgRI & AT TFASIT F

By sales of Assets




D |gREdfrar & fashr &

Answer Key: D

Q43 : Discount allowed on issue of shares is an example of _

3R & AT W Te 3aTeRoT &

Capital Expenditure

o

Revenue Expenditure

IITT T

Deferred Revenue Expenditure

AT IR =

All of these

D

o & T

Answer Key: C

Q44 : In case of Perfect Substitute indifference curve is

qof ey Rufar # derurar o & fer & & 2

Right- angled

HHPIUT

Linear upward sloping

@ FIT IR g3

Linear downward sloping

%@%éﬁgﬁr?ﬂ

Concave to origin

D
HA & 3fadol

Answer Key: C

Q45 : NABARD was set up under :
ATTS (NABARD) 3iceriad ¥uifad fomar amm o

The Indian Companies Act,1956

HARAT HFgar TR H, 1956




The Banking Regulation Act, 1949

sSferer IfAgaa 3RRE#, 1949

The Act of Parliament

qHe & IR

D

The Reserve Bank of India Act, 1935

g Rea d& 3w sf3ar 3mfafage, 1935

Answer Key: C

Q46 : World Bank Provides Loan to the member countries-

32 d% T &M 1 HUT YT AT -

From own Funds

T AT

From Borrowings

3UR

By Guarantee

ARE Z@arT

D

All of these

o & T

Answer Key: D

Q47 : This is not an element of internal environment ?

SAH A Hled X ATATGROT HT dcd el &

Marketing Capability

Aqure &7 T

Operational Capability

IR &TH T

Money Capital Market

Hel Td Yoil el

D

Personal Capability

afaaeiitT eraar

Answer Key: C




Q48 : Which of the following is not a stage in Product Life Cycle-
ffaf@a & @ Faar 3cag SfiaeT g% &1 a7 AT 6-

Introduction

gR=r

Revive

CERICE

S

Decline

LG

Growth

Daaﬁr

C ~

Answer Key: B

Q49 : Fill in the blanks:
Statements:
a)Loyal Customers Products
b)Loyal Customers are Sensitive
c)Loyal Customers pay to competitor’s advertising
d)Serving existing customers is
Alternatives :
1.Less Attention
2.Cheaper
3.Less Price
4 .Buy More

ReFd TUT P 9RT---
EXIr N

@) saEE aed giaaehEl & R{amd W3 &
@) Al TMew T FaT FAT - §

e :

| & 1T

2 SITET |ET

3 %A FAd

4 SITST @WGAT

(a) (b) (c) (d)
3 & 2 A3




(31) (@) @) @
3 % 2 9
(a) (b) (c) (d)
gl 4 3 1 2
(31) (@) @) (@)
a4 3 % 2
(a) (b) (c) (d)
clL2 1 3 4
(31) (@) @) (@
2) 3% 93 @
(a) (b) (c) (d)
ok 3 2 1
(31) (@) @) (@
4.3 2 1%

Answer Key: B

Q50 : A committee of 6 people is to be formed from a group of 7 men and 4 women. What is the
probability that the committee will have exactly 2 women ?

T @S 3R IR &t & d@eg @ o earieaat H GfAfd afsd @ Sl g, gaehr a2n
g g & afafa & sao o &3t gely 2

0.456

0.456

0.803

0.803

0.962

0.962

None of these

D

ST W IS A

Answer Key: D

Q51 : The Overall Capitalisation rate and the cost of debt remain constant for all degrees of financial
leverage is advocated by :

Tl Aot & el et & v Feqet Geltetor &3 dar ®or & aer R w8,
SHRT IRTeld Hl :

Traditional Approach




A | 9RFRS 39T

Net Income Approach

Y T 3URTH

Net Operating Income Approach

RICH YRETeleT 3T 3UTTH

MM Approach

D
UH-UH 3YTH

Answer Key: C

Q52 : The Success of E-Banking depends upon :
1. Multi-layer security system
2. Risk and surveillance management
3. updated flawless software
4. Stringent legal framework

S-dhaT &1 Fhelar (e e &
| SE-TRT F&T JoTTelr

2 SITEH vd R gaeer

3 3¢TcleT QIWRfgd ATFEA3R

4 SN Hlefell il

1 and 2

13Kk 2

1,2and 3

1,23 3

2,3and 4

2.3 3R 4

1,2,3 and 4

D
1,233R 4

Answer Key: B

Q53 : Suppose a Canadian Firm Imports Bananas of Dollar 1,000 and sells them for Dollar 2,000. The
effect on GDP would be-

AT oy T T FASIT B 1000 STe & el AT HLal § 3T 2000 3o & 3%
ST & SAS W gyHET gren-

It will decrease by 3,000 Dollar




A |TE 3000 ST & FHa grafr

It will increase by 3,000 Dollar

Ig 3000 STl A §¢ AT

It will increase by 2,000 Dollar

Ig 2000 STeR A g¢ SATTafT

It will increase by 1,000 Dollar

D

Jg 1000 STeR A g¢ SATTaft

Answer Key: D

Q54 : Consider the following :
1. Pricing objectives
2. Pricing methods
3. Pricing strategies
4.Pricing decesions.
Arrange them in correct sequence :

@ &l faur HIfT
1. Hod AURoT 3eged

2. 7o faeor fafey

3. 7] fefRor egg e
4. 7oy faeior Hoae
3¢ e %A A fafee:

1,3,2,4

1,3,2,4

1,4,3,2

1,4,3,2

2,143

2,143

4,2,3,1

D

4,2,3,1

Answer Key: B

Q55 : Which of the following software has applications in both Mathematics and Statistics ?

frAfaf@a # & wiawn afcedsr a1ftid va |ifedhr el & gged giar & ?

SPSS

SPSS




SAS

SAS

R

R

None of these

Plam a a2 -8

Answer Key: A

Q56 : Indicate the cost of equity capital, based on 'Capital Asset Pricing Model' with the following
information :
Beta coefficient-1.40
Risk free rate of interest-9%
Expected rate of return on equity in the market-16%

fArafaf@d goar# 3mur ¥ goiera aRawafy faa Feior Ae 9w meia sfEad
Yol hT ST SIATSd

sfier a[uTieh-1.40

@R Hod =T T &9 %

oR H sfFacT gfdwel &7 39f&T &3-16 %

9.8 %

9.8 %

18 %

18 %

18.8%

18.8%

16 %

D

16 %

Answer Key: C

Q57 : EDI System got legal recognition under which one of the following Act

ST YUTlell &1 denfeles Agar fhe rfafaas & eaerd e § 2

Electronics Act, 1996

Solgeiterel AT, 1996

Right of Data Act 1998

31eT &1 3R FfafETH, 1998

DGFT Act, 1999




3 S T & 3rfRfATe, 1999

D

Information Technology Act, 2000

AT deheiteh AT, 2000

Answer Key: D

Q58 : Match the following theories with reference to the capital Structure theories :

List-

List-1l

a) | Traditional Approach

Highly Profitable companies

b) | Trade off Theory

Optimal Capital structure exists

c) | Packing Order Theory

Optimal debt equity ratio of
profitable firm that has stable,
tangible assets would be higher
than the optimal debt- equity
ratio of unprofitable firm

PR Riguial &1 oMo e Riguidl & Traetr 3 gafaa AR

g (1) T (1)
A | gREaRe 3uEH I AT TGRS Sediadl AT &H FROT &I 3TAT Hidl o
q | $5-31% =AY Il 3felsheidd Yeherd TR AlSg &
m.  eEeRE B S feR AR aRewafcadr §, 3 sgaeaa
T | AT ooy STl Ut eSS B & JejhelaH RUTSTFIE! Iegurd &
3AF BT &
A B G
i i
A
(3 € (@)
i ii iii
A B G
oo
B
(31 (€) (@)
ii i i
A B C
i1
C
(3 € (€
i i i

AB C
i i




3 @ @
i il ii

Answer Key: B

Q59 : MBO Programme usually involves the following steps :
1. Establishing unit’s objectives
2. Establishing organizational goals
3. Negotiating or agreeing
4. Reviewing the performance
5. Creating action plans
Indicate the correct sequence of the above steps from the following codes:

TH.A.3N. HEHA & el TAIA fAeafaf@a @ ssd ¢
1. 318 & 35 Y T

2. TISATCHS oI&T I TATIAT

3. GHSIAT AT TR

4. fASTeTaT T JeRracilehat

5. 1 AISTAT T Foled

1,2,3,4,5

1,2,3,4,5

27 1 7375747

27 1 7375747

23,145,

23,145,

574737271 b
D

574737271 b

Answer Key: B

Q60 : For 'make or buy decision'. Which cost is to be considered ?

ScUIes YAl %Y AU 8 ST & led AN SR &l €A & @M ST § 2

Marginal cost

AT T

Total Cost

el ellIld

Fixed Cost

R omera

None of these




D|35H & FIg Ter

Answer Key: A

Q61 : Responsibility accounting aims at collecting and reporting costing information

I Wbl & 3662 WeTd FAA3N &l Ubfad vd gfdafed semaar g

Department wise

[EEIEIGTEIRS

Cost centre wise

EIEICETAG IR

Function wise

FRTTIR

S

Product wise

D
3cHICTTdHR

9

Answer Key: B

Q62 : Which of the following will result into sources of funds?

SoIH ¥ Sleadr et & Eidr 7@ aRonfAd gem?

Increase in current assets

Te] IREFTAT & gefer

Decrease in current assets

T aRFFafAr 7 A

Increase in current liabilities

o] &Tfical 7 gefer

Decrease in current liabilities

D

Te] elfdcdl & et

Answer Key: B

Q63 : Rise in general price level along with declining output in the economy is called?

IATEAT H AR 3cUTe & HY-AIA FHT HAT T H Jef& i Hgl Sl §?

inflation

Herehifa

9




deflation

achifa

stagnation

afaer FFagy ThIfd (Stagflation)

demand pull inflation

D o
AT THTA (Demand-pull Inflation)

Answer Key: C

Q64 : The rate of dividend of preference share is decided at the time of :

QAT 3T & STeier & &¥ Uil gl &:

Issue

AT W

Redeemable

Al

Payment

HITATeT 9T

Dissolution of company

Dl & Ruea =

Answer Key: A

Q65 : Performance evaluation of a responsibility centre can be done by :

ITREIAcd hog ol TASUTGe HodTehel fehfieh GaRT fohdl ST Hebell § 2

ROI

3IR.3.3T8 (ROI)

EVA

4T (EVA)

Return on sales

foshT 9T gfawer

All of these

 [F—

Answer Key: D




Q66 : The transfer by a company of one or more of its business divisions to another newly set up company
is called-

FFIAT GART 39 Teh AT Heleh IGATT FHEN 1 fhall 310 Fafaffia wedel & 3rdvor
el ATl 8-

Demerger

IGEIGRGE

Merger

IEGEG]

Equity curve-out

THAT FT 3P [ahT (equity curve-out)

Disinvestment

D
fafaaer

Answer Key: A

Q67 : Classification of respondents only on the basis of gender of an application is-

3AY STaT3iT &7 JIffeI0T ahgel foleT & 3R W FIT a9 &-

Ordinal scale

ShHITT HATUSHH

Nominal scale

AR AYHH

Interval scale

3ocdTel ATYSHH

Ratio scale

D

S

Answer Key: B

Q68 : Which one of the following is a Database Management System?

farfaf@a # aHladr ser 9v ey ggufa g2

MS-Access

UH.TH.TFEH (MS Access)

MS-Excel




B | TA.TH.THAA (MS Excel)

MS-Outlook

UH.TH.3ATSHCefdh (MS Outlook)

None of these

Plam a as a8

Answer Key: A

Q69 : Which technique of working capital forecast is preferred by bank?
S g e Yol & qaETegAE & fAu Hladl deaei ude @ STl 87

Cash forecasting method

ofaTe, qatelaTe fafer

Project financial statement method

waifda o faavor fafer

Operating cycle method

gaTersT O fafer

None of these

Plemr & a8

Answer Key: C

Q70 : Merit rating is not known as-
I[OTTeheT ST TET STTAT STl §-

Efficiency rating

&TAAT S Aol Ayiwor

Service rating

Jar &1 Sofr AT

Job rating

g v Aol s fFeoT

Experience rating

D

31gerd v Aol farefeor

Answer Key: C




Q71 : Which kind of economics explains the phenomenon of cause and effect relationship?

FRUT UG JHIT & TFae T OcaAT T Hiddr JTAET TASC HiLdl 2?2

Normative

3Ty

Positive

Macro

Dmﬂ%c

Answer Key: B

Q72 : X,Y,Z are sharing profit in the ratio of 6:5:3. A is admitted into partnership for 1/8th share. The
sacrificing ratio of X,Y and Z is

X,Y,Z 6:5:3 % 3FqA1T H A & AHER & A 1/8 9 370 B a9l & enfAer gaml XY
3R ZHT AT T &

Equal

ST

6:5:3

6:5:3

5/14,4/14,5/14

5/14,4/14,5/14

4:5:5

D
4:5:5

Answer Key: B

Q73 : I case the price(P),quantity (Q) and changes( 2 ) are represented by respective symbol given in
the brackets,the price elasticity of demand(Ed) is measured by-

Ife drAd (P), AT (Q) 3R IRadsT ( A ) FIsaal A T 1w yfien! garT Hefa
AT § dr AT AT HAT g (Ed)ATIT SIef-

Ed =AQ/AP

Ed = AQ/AP




Ed = (AQ/Q)/(AP/P)

Ed = (AQ/Q)/( AP/P)

Ed = AP/AQ

Ed = AP/AQ

Ed = (AP/P)/(AQ/Q)
D

Ed = (AP/P)/(AQ/Q)

Answer Key: B

74 :
Q Assertion (A) : Everything that goes to increase the importance of the subordinate’s role is
decentratisation.
Reason (R) : When the degree of delegation of authority is more than the degree of reservation of
authority,it is a case of decentratisation.

HARYT : (V) -9cA g Al STHA HgAqaar $r A &1 Aged 96 ST &,
IEETARET i

T (3R) - oI PR & §EATAROT &7 3720, PR & 3RET0T F 37T F 31+ ga9
g A1 THIUT F T 30T & |

Both (A) and (R) are true and (R) is the correct explanation of (A)

al(@) 3R (3R) TeT &1 TUT (V) T FEY TASEROT (3R) &

Both (A) and (R) are true but (R) is not a correct explanation of (A)

alst () 3R (3IR) FcT Bl o] (T) & TEN TISHOT (IR) 7S &

(A) is true but (R) is false

(T) e § Wed (3R) Teld &

(A) is false but (R) is true

D

(T) el & Red (3R) T &

Answer Key: B

Q75 : The difference between sample statistic and corresponding population parameter is:

yfaedl gegd 3R 399 grefua 98T gad & i 3eaT §

Sampling error

wferaaer 3fe

Measurement error

:HTq?rg%




Coverage error

o

NOH-I'CSpOl’lSQ €rror

D

O

Answer Key: A

Q76 : Which one of the following is used for International Money Transfer?

RIS AT 30T & fov Peafaf@a & & Sl w@er fFar e &

RTGS

ISy,

NEFT

TA.3.TH.4).

SWIFT

W.gqu\.ﬂlé.w.a.

None of these

D

ST A IS AT

Answer Key: C

Q77 : Mr. X retired from a Pvt.Ltd.company on 30-11-17.The company paid Rs.80,000 in liew of
commutation of 25% of pension on 30-11-2017,but does not pay any gratuity to Mr.X.The taxable
amount of commuted pension for the assessment year 2017-18 will be —

A X wrde for. el & 30-11-17 1 farfaga EUI hEdell o A X 25% 9T & el
& FU 80,000 T UHHIA I 30-11-2017 H fFaT e P I=gdr 71 &1
fAURoT a¥ 2017-18 % fIT Tohaged Geret & X 9 ARy gl -

Rs.80,000

9 80,000

Rs.3,20,000

9 3,20,000

Rs.1,60,000

9T 1,60,000

Rs. Nil

T




Answer Key: D

Q78 : If the purchase consideration is calculated by adding the various payments to be made,the method is
called:

gie T T TAfewt $aTaeil Y SIS T S Fidthel T I0TAT T STl &, ar Jg fafer
Fer ST &

Lump-sum method

U A fafgr

Networth method

Y Aed

Net payment method

JICE $TITcATeT fafey

Value of shares method

D[
3T e fafer

Answer Key: C

Q79 : When aloan will be NPA?
HF Teh HOT IR Asaresig gafa (Tar.dho) gem

Interest and / or loan instalment overdue for more than 90 days.

sgTaT 3R7AT FoTfhed 90 fod & 31f%e & fow ardfr &

Accounts are out of order for more than 90 days in case of over draft / cash credit.

31fAfahy/aehe HOT & T & T 90 T & 31 AT §

Bills remain overdue for more than 90 days.

a7 90 BeT & 3% & v sniew (39) wa &

All of these

D

o & T

Answer Key: D

Q80 : What is customer delight ?
3UHIFAT THeoAdT FIAT 87

Performance = Expection

forsuresT = geamr




Performance < Expection

fASUTesT <JcITeT

Performance > Expection

fASUTEsT >YIToT

D

Expectation > Performance

TS > fasaresy

Answer Key: C

Q81 : The managerial function of staffing is most closely related to

FHHARY AT (FSITHT) FT YIeIhIT HT Fafas gfass 37 & Fedieed g

Controlling

IGREN

Leading

Adcd

C

Marketing

faqure

D

Organising

HaTfed el

Answer Key: D

Q82 : Sampling distribution of mean is very close to the standard normal distribution when___

AT & YIATTT RAE0T YAY AT R[Aaor & 3fa @we gar 59

Population is normally distributed

AT AT & ¥ faaia §

Population is not normally distributed

THT GHAT T O FaRka =8 §

Both (Population is normally distributed ) & (Population is not normally distributed )

Al (THT AT 39 § faaRa &) aur (@FT =g 39 ¥ {alka a8 8)

D

Niether (Population is normally distributed ) nor (Population is not normally distributed )

Ja (FHETIHT T ¥ [{aRT §) 7 & (@HT T 39 ¥ {aRa 78 8)

Answer Key: C




Q83 : Secondary market intermediaries for corporate securities in India are :-
1.Investor
2.Jobbers
3.Broker and sub-broker
4 Portfolio consultants

AR A T gfdsfaar & fov gfadigs ek caaedr & Heaey g-
1.faaees

2.as

3.5l 3R 39-gGelrel

4 QrEmIToraT RIALETAT

1,2 and 3

1,23 3

2,3and 4

2.3 3R 4

2and 3

23k 3

3and 4

D
33t 4

Answer Key: C

Q84 : Which type of retail store generally has the highest operating cost ?
o GehR & e USRI 1 GRETeleT olleTdd ATAA iTeehdd gl § 2

Departmental Store

ol s

Super Market

S

Chain Store

HWAT HUSR

Co-oprative Store

Dwr?rawgn

Answer Key: B




Q85 : Inline and staff organisation,staff perform the function of.

oS 3R TeTh TarasT H TeTh FRT HldT &

Management

It hr

Advising the management

JaoT ! 9UHAY &7

Assigning the responsiblity

IaReIRAca faeRoT &r

None of these

Plemr o a8

Answer Key: B

Q86 : BOLT' system in Indian securities market is related to

HRAT a8 aTeiX 7 ‘sl Yool frad arafoerd -

National Stock Exchange

T Tohetl AT (AT T TaadeT )

Bombay Stock Exchange

Jras ey RfFAT (e Tele taads )

Over the Counter Exchange

39R-¢arT [afdda (3NaT & FH3ve T )

Multi Commodity Stock Exchange

D

Ig-a¥q Tohed FAfAAT (FHedT HafEd Tl ToreresT )

Answer Key: B

Q87 : Current ratio 2.5, liquid ratio 1.5 and working capital is Rs 1,20,000.What is current assets?
Tl AT 2.5, AT 1.5 3R wrdefier goit e93 1,20,0008 | Tl FFIRT 27 § 2

Rs 1,20,000

T 1,20,000

Rs 1,60,000

9T 1,60,000

Rs 2,00,000




TG 2,00,000

D

Rs 2,40,000

T 2,40,000

Answer Key: C

Q88 : Promotion consists of the following___

ot # fArafaf@a afFafaa

Advertisement

CEIEGE

Publicity

EEINS

Sale promotion

IEERRERE

D

All of these

gad I Tl

Answer Key: D

Q89 : Human Recourse Management deals with-

HAAT T Yaetl TFa e 8-

Recruitment and selection

T iR wdf

Training and Development

gferetor iR faerg &

Compensation

gifaqfd &

D

All of these

ol & @l

Answer Key: D

Q90 : Conversion of debentures into shares is

FOT U4 o 3 & oRafda s g




Source of fund

FIY T AT

Application of fund

HIY ST TAT

Increase in working Capital

iRl Yol 7 gefer

None of these

Pl o sigad

Answer Key: D

Q91 : Which is the other name given to Average Revenue Curve?

T TH I F3IET ATH AT &7

Profit Curve

ollH dsh

Demand Curve

AJIT Ik

Indifference Curve

B IGRICED

Income Curve

D
AT Ish

Answer Key: B

Q92 : In marketing SEM means
fquie & ta.s.uA. F 3 §-

Search — Engine — Marketing

Strategy — Engine — Money

AIf-gooteT-Har

Sales — Engine — Management

A g-goold-Taey

Sales — Even — Money




D | fasha-gar=T-ger

Answer Key: A

Q93 : Which of the following is a method of Probability Sampling?
i AT FFaTey gl Fr fafr g2

Cluster sampling

Tes Yfawde (Foreex dearioin)

Quota sampling

Frer giaaas

All of These

soet & T

None of These

D

$TH  PIS T

Answer Key: A

Q94 : As per the modern approach to finance function. The following decisions are taken

Myfieh [TaRURT & 3TaR fad & & & @ ooy foe s g

Investement decision

fafeater faota

Financing decision

fqavor [

Dividend decision

CIEIRNRGIIE]

All of these

Pl & o

Answer Key: D

Q95 : The cost of Debt Capital is calculated on the basis of
HOT all T AT T IA0EAT - % ATYR WX gidr &

Net Proceeds

J[CE gTieT




Annual Interest

aIi¥er sATST

Capital

e

N

Annual depreciation

Daﬁ%m

Answer Key: B

Q96 : Banks can avail refinance against loans made to industrial units-

do 3T ST T fEU AT KUT & IUR R Y a0 9o a Fhdl B-

From DICGC

s A &

From NABARD

Aas

From ECGC

sarshd. ¥

From IDBI

Pl s o

Answer Key: D

Q97 : State level financial institution is-

State Financial Corporation

T faa Qe

State Industrial Development Corporation

TS e e Fe

State Industrial Investment Corporation

s e Rt

All of these

 [F—

Answer Key: D




Q98 : Out of the follwoing, which four benifits are available to host countries from MNCs:

1.Transfer of technology.

2.Learning of business mannerism.
3.Strategic Information sharing.
4.Creation of jobs.

5.Entertainment

6.Better utilisation of resources.
7.Enhancing social contacts.

8.Improved competition in local economy

ﬁmﬁr@aﬁ#ﬁmﬁwm&ﬁw&&ﬁaﬁ@ﬁ:ﬁa(wwﬁ)ﬁ
gTed gl e

1.dehalTehT T EEATIROT

2. aTde fseaR & d @

3 Featdeh FEaT IIfed

4. SR T 3cTesT gl

5. FARSIA

6. TTESAT T 9gdY 3TINET

7. QAT H9hl H Fefer

8. TUAY degaedr # ufaeqy’ gefr

1,3,5,and 7

1,3,5, 3 7

2,4,6, and 8

2,4.6,31F 8

1,4,6 and 8

1,4,6 3 8

D

3,6,7 and 8

3,6,7 31X 8

Answer Key: C

Q99 : The Concept of DAGMAR was given by-

AT NTATIR. H HTUROT FTH garT & M-

Kotler

FIcoR

Levitt

fafae

<




Cotley

FHicel

All of these

Pl & o

Answer Key: C

Q100 : InIndia the commercial banks are given license of operation-

HRA H e dal & TaTeld T dsded odr ST g-

By the Government of India

AR TSN GaRT

By the Ministry of Finance

IERIGEICE K-GO

By Reserve Bank of India

HRAT Rerd dF ganrr

By Banking Companies Regulation Act 1949

D

dferer ol sifafaad 1949 & garr

Answer Key: C




